(Y4

Tunua 1}

at point X=665376.7380
at point X=665332.1821
at point X=665337.6415
at point X=665347.5037
at point X=665359.4792
at point X=665389.0656
at point X=665385.1912
at point X=665382.5496
at point X=665380.4363

THnpa 2 H

o
el
~
©

TOMOIrPA®IKO AIATPAMMA

IAIOKTHTHZX : KAHPONOMOI AAMIMPAKH EYOYMH

KAIMAKA : 1/5000

2YNTETAIMENEX

wh % ||

Y

o 665246,64

3681481,12

1 664992,64

3881499,64

2 66501645

3861729,83

3 665263,68

3382208,72

4 665453,01

3883060,68

5 . 666392,29

3883063,33

6 666109,18

30882520,93

7 665349,83

3381491,70

Y=3881763.5174 Z= 0.0000 S
Y=3881783.2265 Z= 0.0000
Y=3881798.1842 Z= 0.0000
Y=3881795.0167 Z= 0.0000
¥=3881804.3433 Z= 0.0000 ]
Y=3881805.0472 Z= 0.0000
Y=3881793.0810 Z= 0.0000 £
Y=3881778.4752 Z= 0.0000 FHEE_—-
Y=3881768.0927 Z= 0.0000 {Ets

at point X=665168.2995 Y=3881854.9602 7= 0.0000

at point X=665217.0733 Y=3881811.2962 Z= 0.0000 {8

at point X=665187.8936 Y=3881746.8535 Z= 0.0000

at point X=665177.7047 Y=3881817.3579 7= 0.0000 &8

at point X=665168.2995 Y=3881854.9602 7= 0.0000

TUNHQ 3(
at point X=665494.3141 Y=3882282.9861 7= 0.0000

at point X=665464.0795 Y=3882278.2282 7= 0.0000 &

at point X=665433.4630 Y=3882202.4232 7= 0.0000 &

at point X=665415.5809 Y=3882181.0354 7= 0.0000
at point X=665455.0039 Y=3882181.8427 7= 0.0000

at point X=665453.0804 Y=3882154.0613 Z= 0.0000 &
at point X=665495.1836 Y=3882157.5618 7= 0.0000 §
at point X=665499.1889 Y=3882173.9729 7= 0.0000E
at point X=665519.8526 Y=3882195.8243 7= 0.0000 g8
at point X=665493.3774 Y=3882210.0389 Z= 0.0000 &

at point X=665498.4632
at point X=665515.2389
at point X=665534.6728
at point X=665556.2409
— at point X=665538.5420
at point X=665494.3141

Y=3882217.7145 Z= 0.0000 ™
Y=3882217.9940 Z= 0.0000
Y=3882255.1279 Z= 0.0000
Y=3882276.1512 Z= 0.0000
Y=3882285.0032 Z=_0.0000
Y=3882282.9861 Z= 0.0000
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TOMOIrPA®IKO AIATI
IAIOKTHTHZ : KAHP
KAIMAKA : 1/5000

EMBAAON IAIOKTHZIAZ YTIO TA
2YNTETAITMENEZ

<

o) [N
©
@

Tunua 1 -

at point X=665376.7380 Y=3881763.5174 Z= 0.0
at point X=665332.1821 Y=3881783.2265 Z= 0.0
at point X=665337.6415 Y=3881798.1842 Z= 0.0
at point X=665347.5037 Y=3881795.0167 Z= 0.0
at point X=665359.4792 Y=3881804.3433 Z= 0.0
at point X=665389.0656 Y=3881805.0472 Z= 0.0l
at point X=665385.1912 Y=3881793.0810 Z= 0.0
at point X=665382.5496 Y=3881778.4752 Z= 0.0
at point X=665380.4363 Y=3881768.0927 Z= 0.0l

wnpa 25

at point X=665168.2995 Y=3881854.9602 Z= 0.0000
at point X=665217.0733 Y=3881811.2962 Z= 0.0I
at point X=665187.8936 Y=3881746.8535 Z= 0.0|
at point X=665177.7047 Y=3881817.3579 Z= 0.0\
at point X=665168.2995 Y=3881854.9602 Z= 0.0

Tunpa 3 Au

at point X=665494.3141 Y=3882282.9861 Z= 0.0000
at point X=665464.0795 Y=3882278.2282 Z= 0.0(
at point X=665433.4630 Y=3882202.4232 Z= 0.0(
at point X=665415.5809 Y=3882181.0354 Z= 0.0(
at point X=665455.0039 Y=3882181.8427 Z= 0.0(
at point X=665453.0804 Y=3882154.0613 Z= 0.0(
at point X=665495.1836 Y=3882157.5618 Z= 0.0(
at point X=665499.1889 Y=3882173.9729 7= 0.0(
at point X=665519.8526 Y=3882195.8243 Z= 0.0(
at point X=665493.3774 Y=3882210.0389 Z= 0.0(

_)Tx 14
El. Lm.rwuw\k
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at point X=665498.4632 Y=3882217.7145 Z= 0.0(
at point X=665515.2389 Y=3882217.9940 Z= 0.0(
at point X=665534.6728 Y=3882255.1279 Z= 0.0(
at point X=665556.2409 Y=3882276.1512 Z= 0.0(
— at point X=665538.5420 Y=3882285.0032 Z=_0.0(
at point X=665494.3141 Y=3882282.9861 Z= 0.0C
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Tanpa 1 J-
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TOMOIrPA®IKO AIAFTPAMMA
IAIOKTHTHZ : KAHPONOMOI AAMIMPAKH EYOYMH

KAIMAKA : 1/5000
MBAAON IAIOKTHZIAZ YTIO TA XTOIXEIA (1
2YNTETAIMENEZ

1

AR X ¥

o 665246,64 3881481,12

1 664992 64 3881499,64

2 66501645 3881729,83

3 665283,68 3882208,72

4 665453,01 3883060,66

H . 666392,29 3683063,33

6 666109,18 3882520,93

7 665349,83 3881491,70

2,3,4,5,6,7,1) : E=1.040.993,211p

at point X=665376.7380 Y=3881763.5174 Z=
at point X=665332.1821 Y=3881783.2265 Z=
at point X=665337.6415 Y=3881798.1842 Z=
at point X=665347.5037 Y=3881795.0167 Z=
at point X=665359.4792 Y=3881804.3433 Z=
at point X=665389.0656 Y=3881805.0472 Z=
at point X=665385.1912 Y=3881793.0810 Z=
at point X=665382.5496 Y=3881778.4752 Z=
at point X=665380.4363 Y=3881768.0927 Z=

wnila 2

0.0000 }

0.0000

0.0000

0.0000

0.0000 &
0.0000 §

0.0000
0.0000

0.0000 §

at point X=665168.2995 Y=3881854.9602 Z= 0.0000

at point X=665217.0733 Y=3881811.2962 Z=
at point X=665187.8936 Y=3881746.8535 Z=
at point X=665177.7047 Y=3881817.3579 Z=
at point X=665168.2995 Y=3881854.9602 Z=

0.0000

0.0000

0.0000 £

0.0000
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\;
TUNpa 3\

at point X=665494.3141 Y=3882282.9861 Z= 0.0000

at point
at point
at point
at point
at point
at point
at point
at point
at point
at point
at point
at point
at point
. at point
at point

5

X=665464.0795 Y=3882278.2282
X=665433.4630 Y=3882202.4232
X=665415.5809 Y=3882181.0354
X=665455.0039 Y=3882181.8427
X=665453.0804 Y=3882154.0613
X=665495.1836 Y=3882157.5618
X=665499.1889 Y=3882173.9729
X=665519.8526 Y=3882195.8243
X=665493.3774 Y=3882210.0389
X=665498.4632 Y=3882217.7145
X=665515.2389 Y=3882217.9940
X=665534.6728 Y=3882255.1279
X=665556.2409 Y=3882276.1512
X=665538.5420 Y=3882285.0032
X=665494.3141 Y=3882282.9861

Z= 0.0000 8
Z= 0.0000}
Z= 0.0000
Z= 0.0000 §
Z= 0.0000 8§
Z= 0.0000
Z= 0.0000
Z= 0.0000
Z= 0.0000§
Z= 0.0000%
Z= 0.0000
Z= 0.0000
Z= 0.0000
Z=_0.0000
Z= 0.0000 8.
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